Frenkel O O [

guoooobboooooobboogood

gdils504080

g g

Monte Carlo0 0 OO O0O0O0O0OO0DOOCOOOOOODOOOOOODOO

OU00D0000 Frenkel OO0OO00O0DOOOO00O0OO0DOOOO

0 O

1 Monte Carlo00O0O0O0O0OOODOODOODO
2 Monte Carlo0d 00

3 Monte Carlo0 000000

4 000OD0O0O0OOODOO

5 0J00O0OO0OOODODOO
5.1 Einstein OO0 . . . . . . . . . . . . e
5.2 FrenkelO . . . . . . . .
5.3 OOOOOODO ... . . e e e

6 UUdoonon
6.1 mcOODODODO .. .. o e
6.2 OOD0O0O0O0O0O00O0 ...t
6.3 NPTOOOOOOODOODOOOO ...,
6.4 du/dl0 LambdaO O . ... ... ... . ...........
6.5 du/AlOOD . oo oo
6.6 DODOO ... .
6.7 DODOOOOOO0 ...t e

7 moment 00 FrenkelOOOOOOO
7.1 Potential . . . . . . . ..
72 MDOOODO ... . e e

11
11
12
12
14
14
19
22



2 MONTE CARLOODOUO

1 Monte Carlo0 00O OO0O0OOOOOONO

ooooon0 - Tibooooboooooooooooooooog
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— DO0bOoob0o0oooooooooboobobobooood

— force0000D00ODO0ODOODOO

1. J0ooooobobobobooooooon

2. 0000000

3. isothermal-isobaric 0 Ti(EAM)0DOOOO0O0O0 400000)0O
4. 0O00O00OOO0ObOOOboO

5. 0000000000000000 TMAKEAM)ODDODODOOO
6. 0000000000 O0000O0OBOPOOOOOO

1. potential(

2.MCO0OO0OO0O0OO

3. NLOODOOO

e

Compressibility 0 0 0 00 0O 00

00000000 Zr0000O Salomons 00 000 [Salomons|] 000000
gboooobooboobbooboobobon

becchep OO0 OO0OO0O EAMOOOOODODO 180KOOOOOO
goooooog

ogooooboobon
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2 Monte Carlo[] [

[Wm .G. Hoover, 000000, (000 O01999), pp.68-70.] 0000
0000000000000000000000000000000000
0000000000000000000000 exp(—E;/kT) 00000
00000000000000000000000000000000000
0000000000000000000000000000000000

0o0ooo o0 BT
S; eXpl— Ly
(Obs(q,p)) = S oxp(—Bi/KT) (1)

gooooobooo



4 0O0b0OO0O0OOoooooon

do0ooodoooooooooooonooooooonoooonooooo
0000000000000 ooooooooooooooon
0000000000 000000000 Metropolis, Resenbluth 0 00 Teller
00000000000000000000000IN.A Metropolis, A.W.
and M.N. Rosenbluth, A.H. andE. Tellr, J. Chem. Phys. 21, (1953),1087.]
00dddooooooooooooooooooooonn AE = kT O
exp(—AE/ET) 0000000000000 OOOOOOOOOOODOOO

. EOsz

(Obs) = =3 (2)

00000000000000

00000000000000000000000000000000
0000000000000000000000000000000000
0000000000000000 exp(-AE/T)00000000000
000000000000 exp(—E/AT)00000000O0000 (00O
00)0

3 Monte CarloO00 OO 0OMOO

(N,VvT)OODOODOOODOODO (canonical ensemble) 000000000
gbooooooooooooooobooon

STEP_1 r_i=initial configuration

STEP_2 potential energy U_i

STEP_3 select one atom

STEP_4 r_j=try_move

STEP_5 potential eneryg U_j

STEP_6 if (dU=U_j-U_i<=0) {r_i=r_j;U_i=U_j;goto STEP_3;}
STEP_7 else R4=random

STEP-8 if (exp(-dU/kT) > R4) A{r_i=r_j;U_i=U_j;goto STEP_3;}
STEP-9 else {r_i;U_i;goto STEP_3;}

gbbooobooboobboobuoobboboboobooon

ooboooboob Js0b0ob0boobobooboboobobUoodOn
ugbbodobbooobooobuoobboobbuoobboobboooboo
Op(x) 0000000000000 0OOOOOO0OOOdODOODOOOOO
p(z) 0000000000 ODOOO0OOOOOOO dOOOOOOOODO
uboobooo 30100200 1b00boo0banoooooboobooon
000000 p(x)00000000CO0OO0ODOOOCOOODODOOOODOOODO
000 p(zx)DO0ODO0O0OD0O0DOO0OOO0ODODOOOOOOOOOD

4 O0O0O0O0Oo0oooooOn

[Ueda p.90] DOOODO0OOOOOODODOOOOOODODOOOOOOODO
mOO0O000000000DO 10000000000 /ODO00000ObO0OO



4 0O0b0OO0O0OOoooooon

List 3.1 NVT OO MCO Code 00O O

double u_i=Energy.Total();
TotalU=u_i;

int reject=0;
double Sum_U=0,TotallU;

// STEP_2 u_i

for(int iter=1;iter<=iter_max;iter++){

x=rand_generate (&ix) ;
int select_atom=x*nbase; // STEP_3 select atom
try_move(select_atom); // STEP_4 try_move

double u_j=Energy.Total(); // STEP_5 u_j
double dU=u_j-u_i;

if( dU <= 0 ){ // STEP_6
TotalU = u_i = u_j;
} else {

x=rand_generate(&ix); // STEP_7
if ( exp(-dU/kT) > x){ // STEP_8
TotalU = u_i = u_j;
} else { // STEP_9
reset_move(select_atom); reject++;
}
}
Sum_U += TotalU;

goboobboobobooboooboooboobbooobooono
vboboboboobobobobobuoboboooboooboboban
0000000000000 0000000O00000O0O0000 (Markoff
process) 0000000000000 OOOOOODOOODOOOOOOOO
gboooboobooboobuoobobobdbdn—=000000000
0000 exp(—-U/kgT)0 000000000000 OOOODOODDOOO
oboo/0Doboob k0bobobomboobooooog

P p) —

Ilm >

3)

gooooboooboboobobobooboboboobooobo-000

00000 (Chapman-Kolmogorov equation)

Zpk 1

(4)

ooooobo0obDO00 k—-1000000DOO0ODO0OOOODbOODOO
gboooobooboobbooboobboobooobo

gboboobooboboobooobooooboobooonon

leIEOP( ) — Wyp, M

()

000000 w, 0000000 m(sOOOOODO)000O0OO

Ubdw,0000D0O0DODODO

Wy >0m=1,2,---,s

4

(6)



S bobugupbbbod

0000000000 w,0OM@OO k—ooOOOOOO

W =Y w; Pim (7)
J

gbooooo

goo0dbOoobOOooOOobodbooooboboooobobolommAon
DDDPZIZI>OD|:||:I[IDD kOODODD0DO0O0O0O0O0O0DIDDOD mOODOOO
0000000000000 00000O0O0ooooOoOO [S. Karlin: A
First Course in Stochastic Processes(Academic Press, 1966), 0 000000
000000000000 (00oO0o0194))0000oooo
0000000000000 00000w, =exp(-U,/kgT) DO OO
(nOoooooooooo P,,00000D000(7 00

exp (—Un/ksT) = > exp(~U;/ksT) Pjm,
J
= exp (—Un/kgT) Prm + Y _ exp (—U;/ksT) Pjn,
j#m
000000000000

1:Zij: mm+zpmj
J

j#m
ooooon
> exp (=Un/ksT) Pmj = Y exp (—~U;/ksT) Pjn,0
j#m j#m

ooooooooD Py;00000000000000O00O0O0O0O0O0O0O00
exp (—Upm/kBT) Py = exp (—U;/ksT) Pj,0 (8)
000000000 0oOO0oooooooOo 0000070000
Poi: Py =1:exp(— (Up, —U)) /ksT) O

oooooooov, >y 00000 mibI00b0 1gb0oooDn
I00mO0000 exp(— (U —U;) /kgT)0000000000000000
uogooooboobbtbddoooooobobobobbtbdoouooooo
00 (8000000000000 (principle of detailed balance) O 0O O
0O000000O0ooOOoDOO0bOO0obOobOOooOo0o00O0 OO (ODO00O0O0OO
cooooob!odmbOOOO0OOOODOOOOOOOOODOODOOO
ugoooboboobbtbddoooooobooobbotbddouoouoooo

o UUoouoodonond

MCOODOOOODODODDOOOOOOOOOOODODOOOObOOODOO
Ub00D0UOentropyU0 000000000 0ODOODOOOOOOODODOO



S bobugupbbbod

ooMCOOOODOOODOOOOOOODOOOODOUOODOODOOOO

oo
ubobooobobooboobobooboooboboobooooboooboon

000000000000 0000ooooon [Kubo, p.200]

gooo
Lpwv,ny=swv,Ny - E (10)
T ) bl - 9 ) T

oboooooooooooo B0

dS(E,V,N) 1

LA—— 11

oOF T (11)

O0o0oov,7,NOOOOOOOOOOOOOO0oooo —F/TO SO0

O@oooo rO0 l/TDDDD)LegendreDDIDDDDDDDDDD
ogoooad

ooooooooooo Soly/r-rpoO0o00oOooon0 F/TO E-1)T
O000000000000000000000000000O00000A0
ooooMCOOOOO0O0O0O0O0O0 EFE-TOO0OO0O0O00O0O0O0O0O0O00O00O0
ocoooooooooOoOoOOOOOOOOOOOOOOODO TOOO
ooooooooooooodooooookbOOodooooooooooon
O0000000000OOoOoO0O000000000O0OOOOOO0O000O
O00000000000000000000000000O0O00O000A0
O0000O0O000000O0O0000000O0O0O00O0O0C0O0OO0O0B0O0OO0
Frenkel 00000000 EinstenOOOO0O0O0O0O000000O0O000O
00000000 [Bennett76]0000000000 Einstein model 0 0 0O
Frenkel D0 O0OO0D0O00000O0O [(?7J000000000000000
ooo0o0o0oOo0ooooooOoOOOoOOOOO0OoOoOoOoOoOoooooon

OO0
s = [ Lapys (13)
(®) = e T(E) '

YKubo, p.85) 00 00D0O0O (L)00O0DODOOO00OOO z,y,2,...000000
dL = Xdzx +Ydy+ Zdz + ...

0000000000 (Pf00)00000000X,Y,Z,...0a,y,2,...000000000
000 LOOO

L — L =1L - Xz
TylYy 2y — X7y7za"'
dL = —xdX +Ydy +Zdz +---

0000 Legendre0O0DOOO0O



5.1 FEinstein 0 U S bobugupbbbod

000000000000 (referencestate) 000000000 O00OOOT
gboooooooogog
E 1 dE()

SE)= [, 7 ay DS (14)

oboooooo

5.1 Einstein [ O 0

[Kittel, p.120 or Takahashi p.212) 00 w O 0OO0O0OO0O0OOOOOO
O nyhwOOOO((M)0DO0O0O000O (Planck distribution)

(n) = (15)

1
<n>+§ = —coth

goooood
EinsteinOUODOODOOODOOOODOOO0ODOOODOOOOODLOOODOOD
oooooooooboosoboo NOOODOOOODOODOOOOoDOOo

Zo = (1 — exp(l—hw/v')>3N (a7)

oooooun

U = 3N (n) hw — m(‘g%_l (18)

Oo0oo0oO0bobOr=kp70000O00OO

= (39), o () ottt

OO0O00OMapleDODOODODODOODODOOO
restart;

U:=(x)->1/(exp(1/x)-1):
d1:=unapply(diff (U(x),x),x):
plot(d1(x),x=0..1);

vV V.V V



5.1 FEinstein 0 U S bobugupbbbod

0.8-
0.6
0.4-

0.2-

> int(U(1/x),%);
In(e” — 1) — In(e”)
> F:=x->1In(exp(x)-1)-1n(exp(x));
F:=2z — In(e® — 1) — In(e”)
> plot(F(1/x)*x,x=0..1);

X

~0.11
~0.2 -
~0.3-

~0.4-




5.2 Frenkel[] S bobugupbbbod

5.2 Frenkel

0000000000 [Frenkel86a, p.171]0 000000000 Hamil-
tontan0 ANOOO HA)ODOOOfreeenergy 0 ANODOODOOODODO

F()) = —kTln (AzﬂiNl / exp[—ﬁU(A)]qu) (20)

00000000Db0000oANDODO0OD0DOD0DOOO0O00 kinetic energy
0 parameterizations 0 analytic0 00000000000 OODOODOOODO
O0000UW\WDODOO F(A=0)00000000FA=1)00000 free
energy 00000000 O0OODO (DOOOOODO)

OF(\) [ BN exp[—pUN)]daY  /oU(N)
ey el o) 2
00 F(A=1)0
FA=1)=F\=0)+ /01 <8(g(§,) >X dX (22)

0000000000000000 (QU(A)/0X), 0000 Hamiltonian H ()
000000000000 (mechanical quantity) OU(A)/OA O canonical O
O0000000o0ooo0oO0ooooooo MCOMD)ODODODDOOOOOOO

Einstein 0 0 O0OODO Freeenergy U0 OO OOO0OOOOODODOOOO
obooooooooooon

N
UN) =AU(Y) + (1= N (KZ(ri—rg)QJon(réV)) (23)
i=1
o0b U, 000000000000 0bO0o0obbO0oOooOOoooOoooDoo
0000000 U(r)Do0O000O000OO000OO0o0oooooog N
00000000000 KOOOOoOoooooooooooooooooo
O0000000000A=1000U0N000000000000A=00
00U\ DODODOO0OO0O0 Enstein00000000O0O0O0O0O0O0ODOODODODO
000 KO Einstein0OOODOOD0OOOODOOO unperturbed 000 O
O000D000o0o00ooooooooon
FinsteinOOOODOOOODOODODOODOOOOOODOODOOODOOOODO
OO00o000oooooooooooooooooooooon

N
o= (Ve v k) (29

0000 10-point O Gauss-Legendre 0 00 0 O Bennett 0 overlapping-distribution
ooooooog

5.3 UUOOOOOO

OO0O000000 periodic boundary condition DO OO0 OOOO0OOO
O00000O0OFrenkel0OA =100000000000000O0OO0O0OO



5.3 DuUoooono S bobugupbbbod

Pair potential lattice Pair potential
boundary

7 /;5 )
ﬁ - )
7 / / /’
00
Einstein boundary
(a) Periodic boundary (b) Einstein boundary (c) Double boundary
condition condition condition

0 1: 00O boundary condition O 00 O O

0000000000000 0drift00000 rotationd 00000000
0O O Einstein potential 0000 0000000000000 0O0O0O Einstein
potential 0000000000000 0OA =10000000000000
0000000000000 o0oo0o0oo0ooooooooooonoog
0000000000000 o0oooooo00ooooooooooonon

00O 00 boundary condition [0 periodic boundary condition 0 0 O O O
0000000000 boundary conditiond0 000000000000 OOO
O000000000000000000000000000000O (Einstein
O00)00000000000000000000 EinsteinOO00O0OO0O pair
potential 0 00 00000000 ODOOODOODOOODOODOboundary OO
0000000000000 ooDoooooooooooooooonoog
Oo00oooooooooooooooooooon

000000000000 10000dEinstein 000 boundary 00 00O
0000000 drift00000000000000O0O0O0O00O00OOO0O0O0O0
DDDDDDDDDDDDDDDDD< ()>DDDDDDDDDDDD pair
potential 0 00000000000 0DO0O0O0OOOOOOODO 1(e¢)00OO
DDDDD<8U(’\)>DDDDDDDDDDDDDDDDD pair potential 0 O
O boundary 000000000 O0O0OOOO Einstein boundary 00 00O
O00OO0Opotential 00000000000 DOOOOOOOOOOODOOOO
000000000000 00000D00000000 boundary condition
0000000000AN=10000000000000000000000
O000000000o000oo00ooDooo0oo0oDoDo0oonooooono
0 1(b) 0 O OO single boundary 00 00000

10



6 Dooooon

6 UUoouong

Frenkel OO0 0000000000 OO0O0OOOOOOOODOOOO
1. NPTOOODOUOOOOODDODOODDODOUOOOODODO sigmalO0OO0OO
2. 000VTO0ADDOOOOO du/dlOODOO

3. Lambda00O 00O du/dlOO 0

6.1 mcUOOOOO

mc (return)

O interactive 0 000000000000 0O00O00O0ODO input 0000

List 6.1 interactive mcO OO OOOO

asura7/home/bob/MC# mc

Thu May 10 22:13:42 2001

Monte Carlo simulator developed by S.R.Nishitani with CodeWarrior.
Use default values?[Y or NI

If you want input format, type ’input’:n

MC mode, 0:NVT, 1:NPT, 2:FRENKEL[1]? 1

Lattice O:inter-, 1:on-site, 2:Eisntein[0]? O

Potential, O:Lennard-Jones, 1:EAM[0]? O

Max iteration[200]7

g

input.dat U0 0000000000000 0O0O0O0OO00O0O00O00OO000

List 6.2 input.dat

no //Use default Yes or No

1

1

0

200 //Max iteration

10 //Sampling Interval

100 //Average start iteration
600 //Temperature in Kelvin

0 //Pressure

0.01 //Atom move delta

0.01 //Volume adjust d

1.0 //Lambda for du/dl

0.7172472961 //0.7071067810 //sigma for volume
2 // Lattice size

0 // 0:FCC, 1:BCC

1.2 // R_cur for mkNeiborList

11



6.2 JO0O0Ooboooooon 6 Dooooon

CommentStrip input.dat | mc(return)

Uoo0oboboDbDbb0O0O000000 parameters [0 Potential.parameters
oboooooo

6.2 UUOOLOOOOOOOO

U0O0D00OD00000DUO Potential.parameters OO0 O 0OO0OO0O
00 (0)0000000o0o0o0oOoOoooooOshOODOODODOODDOOO
U0 home directory 0 OO0 OO OO OO OPotential.parameters 0 0 00
OO00000 CommentStrip0 0000000

List 6.3 Potential.parameters

//LJ
// Einstein E_O + K_const*r~2;
//X_const E_O

//5.43 -2.1331647183
//5.43 -2.478314561

5.43 -2.4780

// LJ r=sigma/dist

// A*x (M*r'N-Nx*rM;

//R_CUT2 A M N

1.8 0.355527452 5.5 9.0
//EAM

// r=dist_O*norm(ij_vec)/sigma;

// Einstein E_O + K_const*r~2;

//X_const E_O dist_0=3.307%0.8660254;
//4.5 -2.424844794 2.863945998

4.5 -4.963364087881271 2.863945998
// double r = sigma/dist;

// cutting = -(r2/rc/r) "nc + (ri/rc) nc;

//r1 r2 rc nc

0.8660254 0.8660254000 1.4 7.5
// double r = sigma/dist;

// rep = AA * exp(-pp/r+pp) * exp (pp*cutting);
// hop = BB * exp(-qq/r+qq) * exp (pp*cutting);
//R_CUT2 AA BB PP qq

1.8 0.177621 2.020161 12.6 2.8

6.3 NPTUoUooooooooooboono

U0D0000 sigmal 0000 TempConrtol U O O O shell seript 0O 0O O
OO00O0Oinput.dat20 00000000000 OTempearture 0 ValuesO O
O0bD0o0bO0odU0shODOODOOODOODOOOODOOOOODO all.table
O0000000bDD0O0O000 allt.table0 0000000 input.dat20
oooboooobbo0 me000D0O0O0O0ODO mput0 0D O0O0OOOOODOO

12



6.3 NPTOOLOUOODOOODOOODOOD

6 Dooooon

List 6.4 TempControl

#!/bin/

csh -f

set Values=(\

n 10!!\
100"\
Il200"\
II4OOI|\
"500"\
"600"\
"800")
Q@ index

while (

=0

$index<7)

@ index2 = $index + 1
sed "s/#TEMP/$Values[$index2]/" input.dat2>input.tmp

echo "#TEMPERATURE:" $Values[$index2] >asura$index.res
CommentStrip input.tmp>input.tmpO

rsh -1 bob asura$index ~/MC/mc<”~/MC/input.tmpO>>asura$index.res &

ech

o asura$index

@ index++

et

ime_count=0

while ($time_count<600)

end
end

wait

@ time_count++

grep "#" asura*.res > all.res
awk -F: ’{print $3}’ all.res | formatter > all.table

List 6.5 all.table

asura7/home/bob/MC# cat

10, -2.477125182183769

100,
200,
400,
500,
600,
800,

-2.
-2.
-2.
-2.
-2.
-2.

465690575472639
452357993999382
426005733886823
414156661513016
399422049141447
373286283944128

s

all.table

0.000000000000000 ,0.717147258728626,

0
0
, 0.
0
0
0

.000000000000000
.000000000000000

000000000000000

.000000000000000
.000000000000000
.000000000000000

.716056577752542,
.714870891114268,
.712850615366218,
.711557231257863,
.710291050642509,
.708009021872868,

List 6.6 alll.table

10, -2.
100,-2.
200,-2.
400,-2.
500,-2.
600,-2.
800,-2.

131883687431261,
120846545495993,
107144582107388,
080422434016538,
065335644938758,
053725326418318,
023790068268947,

O OO O OoOOoOOo

.706997624306225,
.705831470021174,
.704502548187933,
.701652715731670,
.700378503280130,
.698910740741895,
.696082282455625,

13



6.4 du/dl0 LambdaO O 6 Dooooon

List 6.7 input.dat2

no //Use default Yes or No

1

1

0

3000 //Max iteration

10 //Sampling Interval

1000 //Average start iteration
#TEMP //Temperature in Kelvin
0 //Pressure

0.01 //Atom move delta

0.01 //Volume adjust d

1.0 //Lambda for du/dl
0.707106781 //sigma for volume
2 // Lattice size

0 // 0:FCC, 1:BCC

1.2 // R_cur for mkNeiborList

6.4 du/dl0 Lambdal [0

00000 VT OO LambdaControl O Lambda D00 000 du/dlO 0
O00Allcalc000DO0OO0O0O0OODOOOOOOOOOODOOOO du/dlO
LambdaO0OOOO0DOOO

6.5 du/dl000

LambdaO OO0 du/dlD0 00000000 it00000O000O0OO fit
Oooobooobooooooooboooooo legdoboooooon
Oobbbbo0UdUdLambda=0000000000D0ODOO0OOODOOOOOO
ooob-o.lo0ooooooooooboboobbobobobbbbooLJooooo
ubhoboooouonooboboobobobobobobO0bOdDFreeE. txt
0

maple < FreeE.txt
cat FreeE.res >> final.table

000000 maple scriptd

> restart:with(stats) :with(plots):with(linalg):
> data:=readdata("datal.res",4):

Warning, the name changecoords has been redefined

Warning, the protected names norm and trace have been redefined and
unprotected

> yO0:=+1+datal[1] [3];

> datal:=map(u->[ul1],u[3]],data):

y0 = 1.010223906

nn:=nops(data) :
for i from 1 to nn do
datal[i] [3] :=datal[i] [3]-y0;
od:

vV V.V V

14



6.5 du/dl000 6 Dooooon

List 6.8 LambdaControl

#!/bin/csh -f
set Values=(\
"0.0"\

|IO. 1"\

IIO.4"\

"o 7"\

IIO'SII\

"0.9"\
"0.99")

Q@ index=0

while ($index<7)
@ index2 = $index + 1
sed "s/#LAMBDA/$Values[$index2]/" input.dat.lambda>input.tmp
echo "#LAMBDA:" $Values[$index2] >asura$index.res
CommentStrip input.tmp>input.tmpO
rsh -1 bob asura$index ~/MC/mc<~/MC/input.tmpO>>asura$index.res &
echo asura$index
@ index++
@ time_count=0
while ($time_count<600)
@ time_count++
end
end

wait

grep "#" asurakx.res > all.res
awk -F: ’{print $3}’ all.res | formatter > all.table

List 6.9 input.dat.all

no //Use default Yes or No

#MODES

#FINISH //Max iteration

#INTERVAL //Sampling Interval
#START //Average start iteration
#TEMPERATURE //Temperature in Kelvin
0 //Pressure

0.01 //Atom move delta

0.01 //Volume adjust d
#LAMBDA //Lambda for du/dl
#SIGMA //sigma for volume

2 // Lattice size

0 // 0:FCC, 1:BCC

1.2 // R_cur for mkNeiborList

15



6.5 du/dl000

6 Dooooon

List 6.10 All_calc

#!/bin/csh -f

#
#

# for WARIKOMI p.234
set Values=(\

||o'
LM\
L4\
.7n\
||o.
llo'
"1.

"o
e}
"o

onintr catch
if ($#argv<2) then
echo "Usage: $0 start_step finish_step (sampling interval=10)"

O"\

8"\
9"\
00")

endif

set start=$1
set finish=$2
if ($#argv>2) then
set interval=$3

else

set interval=10

endif

sed -f MODE_NPT input.dat.all>tmp

sed "s/#FINISH/$finish/\
s/#INTERVAL/$interval/\
s/#START/$start/\

s/#LAMBDA/1.0/\

s/#SIGMA/0.707106781/\
s/#TEMPERATURE/#TEMP/" tmp > input.dat2

./TempControl
echo "Subject:
date >> final.table

cat all.table >> final.table

[calc] Whole loop " $1 "-" $2 " with " $3 " step" > final.table

16
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List 6.10 All_calc(continued)

sed -f MODE_FRENKEL input.dat.all>tmp
sed "s/#FINISH/$finish/\
s/#INTERVAL/$interval/\
s/#START/$start/" tmp > tmpl

set list="all.table"

@ index_temp=1
while (${index_temp}<8)
set sigma=‘sed -n "${index_templp" all.tablel|awk -F, ’{print $4}’¢
set temp=‘sed -n "${index_temp}p" all.tablelawk -F, ’{print $1}’¢
echo $temp $sigma
sed "s/#TEMPERATURE/$temp/" tmpl>tmp2
sed "s/#SIGMA/$sigma/" tmp2>input.dat.lambda
@ index_temp++
@ index_lambda=0

while ($index_lambda<7)
@ index_lambda2 = $index_lambda + 1
sed "s/#LAMBDA/$Values[$index_lambda2]/" input.dat.lambda>input.tmp
echo "#LAMBDA:" $Values[$index_lambda2] >asura$index_lambda.res
CommentStrip input.tmp>input.tmpO
rsh -1 bob asura$index_lambda ~/MC/mc<~/MC/input.tmpO>>asura$index_lambd
a.res &
echo asura$index_lambda
@ index_lambda++

@ time_count=0

while ($time_count<1200)
Q@ time_count++

end

end

wait

while ($time_count<1200)
Q@ time_count++

end

grep "#" asurax.res > all.res
echo "Temperature:"$temp ", Sigma:" $sigma >> final.table
awk -F: ’{print $3}’ all.res | formatter >> final.table
awk -F: ’{print $3}’ all.res | formatter | sed ’s/,/ /g’> datal.tmp
maple < FreeE.txt
cat FreeE.res >> final.table
date >> final.table
end
exit O

catch:
onintr -
echo "Interruped on mailing \"
echo $name
exit 1

17
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List 6.11 MODE_NPT
/#MODES/ c\

1\

1\

0

List 6.12 MODE_FRENKEL

/#MODES/ c\

2\
2\
0
> data2:=map(u->[ul1],log(-ul[3])],data):
> data3:=convert(transpose(convert(data2,array)),listlist):
> fit2:=fit[leastsquare[[x,y], y=cO+cl*x+c2*x"2+c3%x"3+cd*x"4+cb*x"5,
> {c0,c1,c2,c3,c4,c5}]](datad):
> f2:=unapply(rhs(fit2),x):
> p_l:=plot(data2,color=blue,style=POINT):
> p_fl:=plot(£f2(x),x=0.0..1.0):
> display(p_1,p_f1);
.035 -
0.03
.025 -
0.02 1
.015 -
0.01-
.005 -
0 0.2 0.4 0.6 0.8 1
> p_l:=plot(datal,color=blue,style=POINT):
> p_fl:=plot(-exp(f2(x))+y0,x=0.0..1.0,color=red):
> display(p_1,p_f1);

18
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o
o
i

.005

.005

-0.01

.015

0.02

.025

> evalf (int (-exp(£f2(x))+y0,x=0..1));
—.004209809713

List 6.13 FreeE.txt

interface(quiet=true);
with(stats) :with(linalg):

data:=readdata("datal.tmp",4):
datal:=map(u->[ul[1],ul[3]],data):
nn:=nops(data) :

y0:=0.1+data[1] [3]:

for i from 1 to nn do

datalil [3]:=data[i] [3]-yO0:

od:

data2:=map(u->[ul1],log(-ul[3])],data):
data3:=convert (transpose(convert(data2,array)),listlist):
fit2:=fit[leastsquare[[x,y], y=cO+cl*x+c2*x"2+c3*x"3+c4*x"4+cb*c”5, {c0,cl,c2,c3
,c4,c6}]11(data3):
£2:=unapply(rhs(£fit2),x):
result:=evalf (int (-exp(£f2(x))+y0,x=0..1)):
writeto("FreeE.res"):
printf ("Integrated Free Energy: %15.10f\n",result):
writeto(terminal):

interface(quiet=false):

6.6 UOOO

02000000000 (final.table)d
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List 6.14 final.table

Subject:
Tue May 8 15:31:57 JST 2001
-2.477125182183769 ,

10,
100,
200,
400,
500,
600,
800,

-2.

[calc] Whole loop

465690575472639
.452357993999382
.426005733886823
.414156661513016
.399422049141447
.373286283944128

Temperature:10 , Sigma: 0.

0.0,

>
>
>

>

O O O O O
© 00 N b=

>

1.00,

0.0,

>
>
>

>

O O O OO
© 00 N B =

>

1.00,

0.0,

>
>
>

>

o O O O o
© 0 N b=

>

1.00,

0.0,

>
>
>

>

O O O O o
© 00 N B =

>

1.00,

-2.

476701623880100
.476720986190981
.476778250327854
.476882046602075
.476937013338801
.476998368607434

-2.477038153128471
Integrated Free Energy:
Tue May 8 15:55:30 JST 2001
Temperature:100 , Sigma: 0.716056577752542

-2

-2

.465020783396086
.465272518352583
.465172879565767
.465202503524778
.465323841928730
.465219650675531

-2.465379529370471
Integrated Free Energy:
Tue May 8 16:19:07 JST 2001
Temperature:200 , Sigma: 0.714870891114268

-2.

.452256801892137
.452311169949720
.452112201734125
.452285650679872
.452282314546932
452106837752670

-2.452535987557672
Integrated Free Energy:
Tue May 8 16:42:50 JST 2001
Temperature:400 , Sigma: 0.712850615366218

.426369381144002
.426711870253616
.426601228812481
.426080581459298
.426357735506321
.426483859273380

-2.425898432463118
Integrated Free Energy:
Tue May 8 17:06:40 JST 2001

1000 - 3000 with

10

step

0.000000000000000 ,0.717147258728626,

, 0.000000000000000
, 0.000000000000000
, 0.000000000000000
0.000000000000000
, 0.000000000000000
s 0.000000000000000
717147258728626
.000122886878287
.000472997395306
.001291754731917
.002144085687763
.002491942995084
.002757535109488

>

, —0.003118735991222 ,0.717147258728626,

-.0015999012

, 0.
, o.
, -0.
, -0.
, -0.
, -0.

002196702395315
001631433762620
000580146149604
003165060215822
004612194320478
005728138705347

, —0.008630049803430 ,0.716056577752542,

-.0018030357

004868463548284
003440828673914
000431509346245
004800091857096
007035293879867
011470899722679

, o.
, o.
, -0.
, -0.
, -0.
, -0.

, —0.014354358677830 ,0.714870891114268,

-.0026330645

.010223905702848
.007987694388592
.000323941166345
.009917573728701
.013165754021106
.019817539919035

, —0.026527886937421 ,0.712850615366218,

-.0042098097

O O O O OO

,0.
,0.
,0.
,0.

,0.
,0.

s

,0.

,0.

>

,0.

.716056577752542,
.714870891114268,
.712850615366218,
.711557231257863,
.710291050642509,
.708009021872868,

717147258728626,
717147258728626,
717147258728626,
717147258728626,
717147258728626,
717147258728626,

.716056577752542,
.716056577752542,
.716056577752542,
.716056577752542,
.716056577752542,

716056577752542,

.714870891114268,
.714870891114268,
.714870891114268,
.714870891114268,
.714870891114268,

714870891114268,

.712850615366218,
.712850615366218,
.712850615366218,
.712850615366218,
.712850615366218,

712850615366218,
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List 6.14 final.table(continued)

Temperature:500 , Sigma: 0.711557231257863

0.0,

>
>
>

>

O O O O o
© 00 N b=

>

1.00,

-2.413260214044746
-2.413995105962358
-2.413635417097108
-2.412564716473067
-2.414003747668451
-2.413307182659751
-2.413127209028266

Integrated Free Energy:
Tue May 8 17:30:19 JST 2001
Temperature:600 , Sigma: 0.710291050642509

0.0,

>
>
>

>

O O O OO
© 00 N b =

>

1.00,

-2.401062343150187
-2.400928096510216
-2.400407552777581
-2.400369935572356
-2.399955553625667
-2.400994817491678
-2.400221856442155

Integrated Free Energy:
Tue May 8 17:54:04 JST 2001
Temperature:800 , Sigma: 0.708009021872868

0.0,

>
>
>

>

o O O O o
© 0 N b=

>

1.00,

-2.373772442322081
-2.374423260444426
-2.374655047081285
-2.375215606030175
-2.373858276444851
-2.374074142484935
-2.373570137950830

Integrated Free Energy:
Tue May 8 18:17:48 JST 2001

>

>

>

3

>

3

3

>

3

3

>

>

>

>

0.012365732825709
0.009061782279548
0.000546519197662

-0.014023912426861
-0.016305736517589
-0.021950945742296
-0.033422314574031 ,0.711557231257863,
.0054804125

0.014280756513975
0.010972145150600

-0.000562270122532
-0.014268969275385
-0.022026332361379
-0.028199627211893
-0.050763889656300 ,0.710291050642509,
.0074673399

0.019110573465948
0.014947792481552

-0.002250677002858
-0.019147495800667
-0.033666054870812
-0.045489139855569
-0.064315275727469 ,0.708009021872868,
.0114062586

,0.
,0.
,0.
,0.

,0.
,0.

s

,0.

,0.

711557231257863,
711557231257863,
711557231257863,
711557231257863,
711557231257863,
711557231257863,

.710291050642509,
.710291050642509,
.710291050642509,
.710291050642509,
.710291050642509,

710291050642509,

.708009021872868,
.708009021872868,
.708009021872868,
.708009021872868,
.708009021872868,

708009021872868,
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6.7 DOOOODODOOO

O00ooooO0o0ooo0oOooOo0OooOoOoo0oOobooobooooOoooon
ChcekO O OO 0O OO shell scripts ChangeInputd CommentStripdall kill
ooo

List 6.15 Check

#!/bin/csh -f
set Values=(\
"1 0 1.0"\
||1
II1
||2
||2
"2
||2

NN ORr~=,O
= O O O~ O
O O O O =

echo ‘date‘ > test.res

while ($#Values)
ChangeInput $Values[1] > input.tmp
echo "#" $Values[1] >> test.res
./CommentStrip input.tmp | mc >> test.res
shift Values

end

grep "#" test.res > all.res

List 6.16 Changelnput

#!/bin/csh -f

sed "s/#MC/$argv[1]1/;s/#BOUND/$argv[2]/;s/#POTEN/$argv[3]/;s/#LAMBDA/$argv[4]1/"
input.dat >input.tmpl

cat input.tmpl

7 moment] ] FrenkelOOOOOOO

OO0 LJOODOO0OO00OD0OOmoment 00 Frenkel OO DOODOOO
googooo

7.1 Potential
Moment 0 0O OQOQO0OOO LJOOOOOOOODOO

-2 b (] e

O00000000000000erg(Kelvin)-mO Uy = O 28760.49148K 0O O
gboooooooooooogooon
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List 6.17 CommentStrip

#!/usr/bin/perl
# Chop "//" type comments from files
# by S.R.Nishitani 27/2/01

foreach $current_file (@ARGV){

open(INPUT, "$current_file") || die "can’t open $current_file $!\n";
$delim="//";

# $delim="#";
while (KINPUT>){

# s/\s//g;

$num=index($_, $delim);
if ($num<0){
print $_, if $_ ne "";
# print $_,"\n" if $_ ne "";
} elsif ($num > 0){
$outline=substr($_,0,$num);
print $outline,"\n";
}
}
print "\n";
close (INPUT);

List 6.18 all kill

#!/bin/csh -f

if ($#argv<l) then
echo "Usage: $0 killing_process"
exit 1

endif

ps -edf |grep $1 l|awk ’{print $2}’ > /tmp/AD1$$
set line=‘wc /tmp/AD1$$|awk ’{print $1}’°
set ii=1
while ( $ii < $line)
set number=‘sed -n "${ii}p" /tmp/AD1$$¢
echo $number
kill -9 $number
Q ii++
end

rm /tmp/AD1$$

exit O
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so far UO=Kelvin unit, while psaiO,psai=erg unit (99/8/15)
U0_eV=U0%8.617385e-05;

psail_eV=psailO*6.2415064e+11;

UO_eV/psaiO_eV = boltz_con:=1.380658e-16;

OeVOUODOOOUOO-2478eVULOUOOOOO MapleD OO

restart:
psi:=r->DD/(m-n)* (n*(r0/r) “m-m*(r0/r) "n):
m:=9:

n:=5.5:

r0:=2.5487e-08:

DD:=4125.70:
erg:=1.60219e-12:#1eV=1.60219e-12 erg
Bolt_const:=1.38061e-16: #erg

1/erg;

V V V V V V V V VvV

12
.6241457006 10

> r_eq:=fsolve(diff (12*psi(r)+6*psi(r*sqrt(2)),r)=0,r=r0);
> evalf(r0/r_eq/sqrt(2));

-7
r_eq := .2512666221 10
. 7172472961

U:=r->evalf (12*psi(r)+6*psi(r*sqrt(2)))/2:
U(r_eq)/erg*Bolt_const;

U(r0) /erg*Bolt_const;

DD/erg*Bolt_const;

vV V V V

-2.478296715
-2.466683578
.3555123099

meUOODOOOOOOOOOO0OOOOO0O0OOOO cOO4OOOOOO
oog (ro/req)/ﬂDDDDDDDDDDDDDD eVIOOoooo.35550
oo

bbb wOOOoooo kDo muboD

w=1]— (26)

0000000 1/s000000kD0 eV/A200SI000 J/m? =kg/s?0
0000000000000000000 wi

>Abogadoro:=6.02217e-23:
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2.6

2.59

2.58

2.57

2.56

Nearest neighbor distance [A]

255 dg

| ] ] | | | |
0 100 200 300 400 500 600 700 800

Temperature [K]

O2MCOMDODODOOOODODUODOODODOOODODODODODODO

> k_prime:=kxergx10~(-7)/(107(-10)) "2:#eV/A"2->J/m"2
> M_prime:=M*10~(-3)/Abogadoro:# Relative atomic mass -> real atom mass
> omega:=sqrt(k_prime/M_prime) ;
-9
omega := .9822759566 10  sqrt(k/M)

googd

7.2 MDUOOOUO

obooooboMbOUODOODOODODOODOOOODODOO
goboobbooboboobboobooobooobooobooonoo
OO00O000ODOOO0O0000ODOOO0OO0ODFrenkel0OOOOODOOOO
U000 Einstein model OO0 OO0OO0O0OO0OODODOODOODOODOODO

uooboooboooobobooobobooboooooboooaon

000000000 H = £ +™< 0ppo000oooo

googg Z(w):%DDDDDDDDDDDDDDDDDD

0000 E,=(n+1/2hw 0000000 OOOOODODODD

-1
Z(w)=[2sinh 4| 0O0DOODDOOODOOODOO00

gbboobuoobboobodd
bobooooobooboooobooboboobooobonDbO
oooOo0DbO00 wbOOOOODOOOOOOODOOODDOODO
gooooobbobooobobooon %"DDDDDDDDDD
gooo
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-2.02

-2.04

-2.06

-2.08

Energy [eV/atom]

-2.1

DN N i R N S N B B
0O 100 200 300 400 500 600 700 800

Temperature [K]

O3 MCOMDODODODOOOOOOODODODODODODOOODODOOOD

=215

Helmholtz free energy [eV/atom]

23 ! ] I ! ! ]
0 100 200 300 400 500 600 700

Temperature [K]

O 4 MCOMDODODODOOOOOODODODODODOOOODOOODO
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